Quiz 5 solutions
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Castigliano’s Theorem Is to be used to determine the transverse displacement of the beam at
point B.

TRUE or FALSE: A dummy load is needed In this case.
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An axial force P, a torque T and a bending couple M are appiled to the beam shown above.
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Wihen using Castigiianc's Theorem for Indeterminate structures, the final form of the strain
energy:

© should include only redundant reaction loads.
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A three-node finite element model Is to be constructed for the rod shown here. The size of
the stiftness matrix (K] that Is to be used to soive for the nodal displacements Is of the size:
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A three-node finite element model Is to be constructed for the rod shown here. The size of
the stiftness matrix (K] that Is to be used to soive for the nodal displacements Is of the size:
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